1. Choose the correct option.
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He is an inventor. } [ She is a doctor. } [She is a journalist. ] She is an archaeologist. J
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He is an astronaut. J [ She is a clothes designer. }
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[ She is an inventor J [ She is a clothes designer. ]
He is a journalist. } [She is an inventor. J [ She is a dancer. J [

She is a vet. }

He is an archaeologist. J [ She is a vet. She is a vet. He is an archaeologist. ]
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He is a sports person. } [ She is a journalist. She is an architect. He is an architect. J
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He is a dancer. J [ She is a doctor. She is a dancer. He is an astronaut. J

She is an architect. [ He is a doctor. J
She is a doctor. [ He is a sports person. ]
She is an archaeologist. [ He is a dancer. J
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